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FibA E(Y) = 3t(=2¢" + 3¢7) + 6¢{1 +2¢° — 3¢°) = 61g” — 91" + 6t
PIH0<p<qg<l,Fibl E(Y) — E(X)=6tg"— %q"+ 6t — (—3ip” + 61) =61g" —
Otg” + 3tp” < 6ig (g — 1) < 0,

i L I BA G35 1) - B {E e 4 D

i A i% 2 vil I 4 & A B E T 0F 42
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. Il fx)=(x+ 1) =ax"+ax" '+ ta, x+a,.nEN.
EIAE Z'I:i + 1)a,:
=1

{EJ LEH«H =fnr l{-‘-'] + Eﬁeli{-rj +”'+'I*fari.-[-"} +"'+Hﬁ_..{-1'] (n € "nl':*} Eqﬁﬁ:tqjﬁ'x” TR 5
N+ DOy,

fl}g(i +1)ag,=(n+2)2""—1

(2) ik W] Wit Br

CED (V) Y £(x) = (x + 1) = apr" + a" ™ +--+a, 2 + dis
(x+ 1) "W AHNT, =Cx" " (0<r<n,7EN),
Wikl a,= C..

k) il(i ~ 1)a,.:i1:(i + 1)C, =2C;+3C +-++nC " + (n + 1)C;,
1+ i(i +1D)C=C+2C+3C+---+rC "+ (n+ 1)C7,
P
N1+ i(i +1)C=C+2C "'+ 3C 7+ +nC + (n + 1)1,
=
A 2(1 -+ i;{i + 1]#:‘:;) =(m+2)(C+C+Cot-+C'+C) = (n+2)2,

b Zu:{f+ a,=(n+2)2"""'—1.

(2) N £ %) + 2, o(x) +-- 40, (%) ++rfo () (n € N7) I IETF A % 27

Hﬁfl‘JﬁﬁEJlJ c.:"l'|+2E':+2+3c:+3+..‘+nC‘h?

(n+k)  (n+&)
Akl al(k— 1)

DR FRITVES [ F

Con +2C 5+ 3C ++rC, = (n+ 1)(CH + Cla + G+ 46 )

=+ 1)(CE+ G+ Clhat++Ca")

=+ 1)(CHE+ Cha+-+6")

:(ﬂ+l}ﬂ:fl-

EX A, £ £ H{kEF— ABCD F, K ABCDEET., H CE 1 &l ABCD,
AF W CE, AC=CD=CE=AF=1,  MEH{EREF |-.

(n+&)!

M RCorn =1 (n+ DIk — 1)

= (n +1)C.;.

=(rn+1)

F
>B
p %
(LVE M NEF )b, KEE AM f0F 1\ BDE B9EE 2
() R F R M B AE i D — AM — B B2 3N —E
ER0%-
(2) #5 M JLEREE FE |- S804 F [R00 5 70 4.

(XD (1) 4% BD % AC T 0, WL EF ) %5 6,14 Ry 300K ABCD %,
Wikl AC L BD, 0} AC P ).
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|5} AF // CE, AF =CE,

WECA P A I ACEF J -1 i M E.

Kh 0, G5l R AC, EF v i,

Wi k), OG i CE.

[X % CE L *F-ii ABCD, AC, BD C *J-iiii ABCD,
Wikl CE 1L AC, CE 1 BD,

Wikl OC 1L AC, OG 1 BD.

VL O 2y 30 &l Sl e 5 ] LA A b & O — xyz, W)

L0). w001, 8(--00). o5 00)8fo 1.1,

il BD = (+v3,0,0), BE= (? —%,1).

1% Vi BDE 11k ) ng = (%0, Yo, 20)'s

— V3x,=0
{ﬁ BD=0 b N2 :
m-BE=0 o 5 Yot =0

A(0,

I X 1
E-Ezﬂ—%-2+l={},lﬂfﬁf.dm‘ff -1 BDE.
Ve ASFEm BREWE N A,

E_("F : n) d= |AB_L"’“1 = “f JBTEA V2% AM Fi Vi BDE Wy 35 N

27 |real
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E

L

s e
Tt SRR
D" O

X -"'y\

(2) i% M(0,m,1), mE[—— —] |r:|}g,4( 0), B(—%,{},{}).D(g,ﬂ,ﬂ).

Iﬂfl«:r.ﬁz(%, —%,ﬂ),ﬂz(n,m—é,l),ﬁﬁ (—% —% 0).

UtV i ADM, Y- iti ABM (93K 1) &% 53 30 0 ny = (20, 31,21) 5 B2 = (%20 ¥2020)

{Iﬁ =0 gy e Bibd 7 = (L3, —vBm+23)
S =(1,+3, —v3m+ 2=,

=0 h(m—%)y|+zl=ﬂ o S

9, [ /3 1

AB-m=0 ... 772 n=5%=0_ , _ V3

{ATI.E;:{]’WH (m_é)h_w:ﬂnﬂ (1‘ V3,/3m 2 )

Pk il D — AM — B 420z 40 N —%';—1
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